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Instruction | 3288 | 3%BA

. DO NOT FLIP OPEN THIS FRONT COVER UNTIL YOUR PROCTOR TELLS YOU.
TEARMCE) B E AR/~ . 35 A 2B B e 3 T
TEARWCE W25 B 7R B, 15 A BT b3 i
2. This is a 25 question multiple choice test. For each question, only one answer choice is correct.
BB EBEREN I, FEEE R A E e R
X —BaE25E RN, FE8E HA A IEFRE R,

3. Mark your answer to each problem on the answer sheet with a pencil. Check blackened answers for accuracy
and erase errors completely. Only answers that are properly marked on the answer sheet will be scored..

R AR H A R A SRR S R b A R R MR ORI, R e
EEERINE R AR EEEES R LS R A FYEED
TR EE R H A R A EREAES SR L. RERR ARG R R ORI R, g5
EERAERNE SR ARSI R ENERA S0P

4. Every question is given a point value. You will receive full points for correct answer, and zero point for blank
or incorrect answer. The full score of this test is 100 points.

BEE AR ERME. SEEERN, FEEEARS . ARHEI 7510053
BHEM HH A EM . XM BREE HR05 . AR 2> 210043

. Only scratch paper, graph paper, rulers, protractors, and erasers are allowed as aids. Calculators are NOT
allowed. No problems on the test reguire the use of a calculator.

BB RERRAR TTHEAG R BAGHMRBAERME TR, sHEG—ARFEMNR. WElR
A ATAR] R R D6 T AT T B
HRE ARG, Tigat. R BAGHRBIE AR TR, iHHEGRARFEMNR. Wtk
A ATARY i) R0 5 5 A T - B

. Figures are not necessarily drawn to scale.
I TE A — e 4% Ll 4
BIEA—E & L2 i .

. Before beginning the test, make sure to write the Competition Code “Ecolier”, your name and Competition
ID with your signature on the answer sheet, especially to bubble in the 9-digit Competition ID completely!

TEPAIRIIECZ 1Y, AR OR CAS B FE (UG “Ecolier”, #EAZFIMER @RS EEE L B4, Kl
ROV HE 2 8 9% 1) 0L B T AR S A A R A R T B
TEFF IR MR Z /. EHROR R SESARS “Ecolier”, MR A FIMER UL S B EE M~ FIFEL, Rl
RN HEFE LS AT C AU ) B T e

. You will have 75 minutes to complete the test once your proctor tells you to begin.
BB LA EATRIGIR . VRN ATS5 40 88 Y IR ) 58 G Ao
W RINEAT LRI, VKBTS 5Bt I ] 58 el o
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2023 Hong Kong Mathematics Kangaroo Contest - Ecolier (Grade 3 & 4)

‘ Part 1: 8 problems, 3 points each
(%% 8EEA, SE34H | %9 8 EEE, FEW3H)

1. Holger fills the rest of the table with the numbers up to 40, following the pattern shown.
Which of the pieces shown could he cut from the table?

Holger #: %2 [8 7 #9 5 AE A4 1 2] 40 09BN AAE, PULT AR EAB A A& T 3 TR — 3?2
Holger #: %8 B 7 69 MK 1 2] 40 69 B KA, BT AR AR A P 3 TR —3k?

213145678
9 110(11(12
[12)] [12)] [12] [12)] [12)]
20121 20121 21122 21122 22123
@a 28 ®) © 39 o) 3Y €| 133

[Proposed by Denmark | fF4-4t88 | A 4544 |

2. Which of the following shapes cannot be divided into two triangles by a single straight

line?
VAT ARME B R AE AR — & B4R B R om B = A B P

ATIRANER Fie—F AL ERANZ A ?

A) A B) <:> ©) D) / (E)

[Proposed by Georgia | #& & & SZA4tA | #&-& F LAAL

3. The two kangaroo coins with the question mark on have the same value. What is this

value?
AZAMENRAAEREGTAME. SEaEAt % Ve
A BT RERRATODEME, IANATELS V2

:““..\
b 0 _
\ 'Q

Nanps

(D) 10 (E) 20

A1

[Proposed by Denmark | 4438 | A 444 |
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2023 Hong Kong Mathematics Kangaroo Contest - Ecolier (Grade 3 & 4)

4. Kristoffer folds the transparent paper along the dashed line. What can he then see?
Kristoffer % % i & 37 8 £ A 4. ARBZMAEA B4R ?

Kristoffer % & i &7 & ALK, REWitAEH L2

'II._|II:|
S
- Ul o lB 0

(B) (&)

(A)

L1 | ]
Eplifan
1N/ |o
L
—
T

(D) : ' (E)

[Proposed by Denmark | 4438 | A 44A |

5. There are six weights of 1kg, 2kg, 3kg, 4kg, 5kg and 6kg. Ross puts five of them on the
scales and puts one weight aside. The scales balance. Which weight did she put aside?

AA 1kg, 2kg, 3kg, 4kg, 5kg, 6kg ~{A##E. Ross e L+ o) @R FE, f£5 —
BFRAH A F %o RFRAFHE . MK 5 % 09 5555 2 RE ?

A 1kg, 2kg, 3kg, 4kg, 5kg, 6kg <Ak, Ross ‘e Loy AAKAERF L, &5 —
NFEI AT Ao RFATHEG o PR AE 5 26 BR AL AR AP

Loinlatiicls

(A) Tkg (B) 2kg (C) 3kg
(D) 4kg (E) cannotbe sure | R E | RHE

[Proposed by Russia | % ZE 4% | 1K F A 44 AL |

2023 HFHEBERERRE—DE T FH 2 2023 HARFERAER—DFFTFAR



2023 Hong Kong Mathematics Kangaroo Contest - Ecolier (Grade 3 & 4)
6. The picture shows a parcel around which four tapes labelled M, N, P and Q are placed.

In what order, from first to last, were the tapes placed?

BABEFT—MaR, CHIEA M, N, P, QWBAuiE. MBS 2 EEHBH L
IR AERE 697

HBRETFT—AGQE, edssA M, N, P, QWi sA. B L EFHB AL
J& 897 5 Kb s 49 2

(A) M,N,Q,P (B) NM,P,Q (C) NM,Q,P (D) NQMP (E) QNM,P

[Proposed by Catalonia | Ao &2 R ARG | o de ¥ R RALAL |

7. Kanga uses a secret code where f1is0, Ais1, Uis 2, {is3, &is4, #is5and Nis 6. Digits 7,
8 and 9 are represented without change. What is the secret representation of #8U + &94?

Kanga 33t 7 —£%#, LA F020, Ax1l, O&2, O 23, &24, &5, NA6,
¥ F 7. 829 K& AJE N80 + SOY 09 #H KT RAE?

Kanga &t 7 —&%#4, A+ 20, Ax1, UR2, O3, T4, 25 RA6,
mEF 7 8409 Ao A4 M8U + ROy 49 F Mk T RAT A2

(A) 1572 (B) AL70 (C) 1072 (D) 70 (E) 970

[Proposed by Venezuela | & N #3428 | & A 25 42444

2023 HAEBERARE—DE T FH 3 2023 FHHFERAER—DFFHFAR



2023 Hong Kong Mathematics Kangaroo Contest - Ecolier (Grade 3 & 4)

8. John glued the three pieces of paper shown on the left onto the black circle on the right.
Which of the following patterns could he not obtain?

John fe Zikdn A B P oI A A A B S 2 e AL, PR —EE ER2EFRE 692

John je = ikdm £ B T ég SR A B D R E R & Lo P —ANEEAFRE 692

A N D

M)C;E> (m<z§;; m)égi’ am<zii> m)<§E>

[Proposed by Germany | & B 4528 | & E 44 |

’ Part 2: 9 problems, 4 points each

($-ES: 9EER, SEAH | ETHS: OEBE, W4 S

9. Ali has a 60 cm ruler. Unfortunately, some of the markings have faded away. He is able to
measure any of the lengths 10, 20, 30, 40, 50 and 60 cm using his ruler only once. Which
is Ali’s ruler?

Al F—3 60 B K6 R F, BHZ, — SR EHOEERT. A RFE S —kshT
AfF4 10, 20, 30, 40, 50, 60 &K 69T E. FHMEZ Ali 69 RF?
Ali F—1 60 KGR F. AL, —RZNFERCELHFELRT. RAARFMNE—RHKT
434 10, 20, 30, 40, 50, 60 & K 9147 K E. FI9RAZ Ali 69 RF?

10 30 | 2l0 4IO | | 3IO 5l0 |

-— -— -—
(A) 60 cm (B) 60 cm O 60 cm

[ 10 20 | o a0 |

-— -—
(D) 60 cm (E) 60 cm

[Proposed by Greece | #f/E#8 | 7 M54 A |

2023 HFHEBERERRE—DE T FH 4 2023 HARFERAER—DFFTFAR



2023 Hong Kong Mathematics Kangaroo Contest - Ecolier (Grade 3 & 4)

10. Lincoln wants the sum of the numbers in the white cells to equal the sum of the numbers

11.

in the grey cells. Which two numbers does she need to swap?

Lincoln # 2 G & B A P ER I EARCBE AT HERZ I, FHEZ LIRS
k&

Lincoln # 2 g & L B P &M I AE T REL AT O EHZ o, FIHE EZ B R
ANF?

1(3]15(2]13
416|811
(A) 1,11 (B) 2,8 © 3,7 (D) 4,13 (E) 7,13

[Proposed by Greece | AL | A A4 |

The MTR line has 6 stations, A, B, C, D, E, and E. The train stops at every station. When
it reaches one of the two end stations, it changes its direction. The train driver started

driving at station B and her first stop was station C. Which station will be her 96th stop?

— kR 6B A, B, C, D, E, F. SIS AAM@EITE. ¥ 23 REL

1% 48 09 35 R ARME ?

— WL 6 ANEE: A, B, C, D, E, F. Z1£AHANEREE. S EHEHAL

S —0, BB EF . FEMNBEFAEELT, F—AMEENELC3E, MF 96 A
124 69 35 LR A2

WestI

A

I East

UJ_E

(A) A (B) B Q) C (D) D (E) E

[Proposed by Greece | A 422 | A 454 |
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2023 Hong Kong Mathematics Kangaroo Contest - Ecolier (Grade 3 & 4)

12. Which two tiles should be used to complete the puzzle?
A JR AR v A 1B 3BT VA 2 A B 2
Ak JR AR B A T 3 T A 2 e B 2

A) 1,2 (B) 1,4 © 2,3 (D) 2,4 (E) 3,4

13. Matchsticks can be used to write digits, as shown in the diagram. How many different

whole numbers greater than 1 can be written using exactly six matchsticks in this way?

BT, KRETAARGET . BIFANRRKRBETAGHE S VERR G KA 6%
#?

WEPTR, KRETURAREHT . BIFANRKRETAEE 2 VARG KT 1655

e

(A) 2 (B) 4 Q) 6 (D) 8 (E) 9

[Proposed by Austria | B 3bF|4ERE | AR |

2023 HABERRARE—DE T FHR 6 2023 FHABFERER—DFFTFR



2023 Hong Kong Mathematics Kangaroo Contest - Ecolier (Grade 3 & 4)

14. Lily wants to color one more cell in the 3 x 3 grid below so that the colored figure has an

axis of symmetry. How many different ways does she have?

Lily A T@# 3x3 Sk AT AL —BEAKEE, FAEHFIGYECRTRT —R
Hihsh, MWA S VB REGEEH R ?

Lily 8 T@e 3 X3 AR EA T RLE—NELKRE, HAIEFHGYEHATVRHA —H
KiAREh . P Z VA RR R & X2

(A) 1 (B) 2 © 3 (D) 4 (E) 5

[Proposed by China | + E4t4 | P B4 |

15. 6 beavers and 2 kangaroos are standing in a line. Amongst any 3 consecutively numbered

animals, exactly 1 is a kangaroo. Which numbered animal is a kangaroo?

6 R 2 RE R A, AEM 3 REREHODH P, BEA 1 RARK, O
1814389 90 R R P

6 RifN2Agn 2 RIRR bR —Heo AAET 3 Rép5ELGHHF, BFAH 1 RALRR. F

"
R RICEER S
00000000

A1 (B) 2 © 3 (D) 4 (E) 5

[Proposed by Greece | A # | A 454 |

2023 AR BERAGE—DFFFHR 7 2023 HHERFRAER —DNFFTFAR



2023 Hong Kong Mathematics Kangaroo Contest - Ecolier (Grade 3 & 4)

16. Rebecca folds a square piece of paper twice, then she cuts off one corner as shown. Next,

she unfolds the paper. What does the paper look like once unfolded?

4o B 7%, Rebecca #f—3#k E 5B B4 MK, REFH—AA. HF, WERTERENA.
EEY ST XS T

Jo B 7, Rebecca ¥— K EFH &t drmi, REFHH—NA. B4, WEFXKLKH.
] %R T e REAR G ?

< ______ _ =

(A) (B) ©

o Ll (E)

[ Proposed by Slovakia | J77&4X St AERE | A7 &A% LAt AL |

17. Anna has five circular discs of different sizes. She wants to build a tower of three discs
so that each disc in her tower is smaller than the disc immediately below it. How many

different towers could Anna build?

Anna A ZAB ) Ko 69 B . WA i — by A8 B AR R 0935, ARAT A9 35 P 69 A8
B AAAR LB AR L T A e E A&, M Anna TR S ) R R 6G 30

Anna A AANRE K o dABdd— gl ZANE S8R 093, 125500 30 69 f A
B AR SAR T 569 B #/)v. 19 Anna [ A2E % ) B R 69357

-
—~ T

(A) 5 (B) 8 © 10 (D) 12 (E) 20

[Proposed by Slovenia | #f7& S B 4R | 74 SR LA |

2023 HABERRARE—DE T FHR 8 2023 FHABFERER—DFFTFR



2023 Hong Kong Mathematics Kangaroo Contest - Ecolier (Grade 3 & 4)

‘ Part 3: 8 problems, 5 points each

(=64 8B, SE5H | £S5 8 HHE, 5HE5 4

18. There are five clocks on the wall. It is known that one clock is an hour fast, one clock is an
hour slow, one clock shows the correct time and two clocks have stopped. Which clock

shows the correct time?

e LA AERAE. The, —EREKR—E N, —ERFER—EE, —ERFERTIER
AURF R, AABRFAE AR AT Ak, R VIRE B 42 A T 69 REFE A R 2

¥ LR AN A, The, —AEAFR—ANDE, — AR AN DB, —ANEFAR R B
a9t R, FANETAR E 2%k FIRAN B AR s 69 2 E A 69 B ) 2

1121 1121 1121 112 12
0 2 0 1/2 0 2 o |_2 o 2
9 3 9 3 9 3 9 3 9 3
8 4 8 8 4 8 4 8 4

765 7 6 5 7 65 7 6 5 76 5

(A) A (B) B © C (D) D (E) E

~

[Proposed by Russia | 4% ZE #4430 | 1K F AT 44 |

19. Adam and Brenda have 9 marbles each. Together, they have 8 red and 10 blue marbles.

Brenda has twice as many blue marbles as red marbles. How many blue marbles does
Adam have?

Adam #= Brenda &% 9 @i## 2k, © M4 £ A 8 M4 &i# 2x4e 10 18 8 & 58 2k, Brenda 49 &
CRABETRUEBRK T RIE. M Adam A % VR E &2k

Adam #= Brenda &4 9 ANizk, ©ME 1A 8 N & igzkfe 10 A% & 72k, Brenda 49 %
CRRBEFRULEH KK EHMAZ, P Adam F % VR & ke

e e €

e e e
€€ e ©

QA e e
&@ e °
@ e e

(A) 0 (B) 3 ©) 4 (D) 5 (E) 6

[Proposed by Brazil | & &4 | & &4t |

2023 HAEBERARE—DE T FH 9 2023 FHHFERAER—DFFHFAR



2023 Hong Kong Mathematics Kangaroo Contest - Ecolier (Grade 3 & 4)

20. How many squares of various sizes are there in the figure that contain at least one star ?
TEVOL—BEINIHRNGEFTHA S V@R

AYE2)aa—MENEFKINEZTHA S VA

(A) 8 (B) 9 © 10 (D) 11 (E) 12

[Proposed by Hong Kong | & #4428 | #5454 |

21. Teacher Olena wants to write the numbers 1 to 7 in the circles. Inside each circle she writes
one number. She wants the sum of the numbers in two circles that are next to each other

to be as shown. What number must she write inside the green/shaded circle?

Olena £ BB FHAAH 1 2] 7 698, WAAMEE B NAN—ER, A 2R H
188 B 693G Fodo B BT RlRLL /A ETEFE B N EANAME S

Olena £ JF A H B F AN 2] 7 6940 W/ NEBARN—MK WA 240 R
AB) B 89 28 Fede B BT o LA E LG AR B B A NIRA S

(A) 1 (B) 2 © 3 (D) 4 (E) 5

[Proposed by Greece | A AR | A 454 |

2023 AR BERAGE—DFFFHR 10 2023 HHERFRAER —DNFFTFAR
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22. The picture is a model of Earth where one can see the North Pole and the Equator. The
model has a pattern which is the same all around with the colours of the sections alternat-

ing white and blue. How many sections of the model have blue colour?

4o B B A — A M IRGER, EP TR s fe i, EED LA —HEGHRE, &
B> EAOECREE, MEBEERTH Z VEFSAEEN?

Jo B A — AR, JLob T A 5] e kil . AR LA — B AL, &
AR XA G CABE, MEMIE A S YA AL E 6

(A) 24 (B) 28 (C) 32 (D) 36 (E) 40

[Proposed by Greece | # {A%AE | A 44 |

23. A city is built on a grid of evenly spaced streets heading north-south and east-west. Start-
ing at a street corner, Edco the tour guide takes a group of tourists around the city, first
walking 3 blocks north, then 2 blocks east, 4 blocks south, 5 blocks west and 5 blocks north,
before stopping for lunch. To get back to their starting point as quickly as possible, how

many blocks does the group need to walk after lunch?

PR ) A o dy Aoy Ao R @SSR H—BAT AR, ¥t Edco BA—B@E
ERF A, RMEAGLTITIEHE, BEARIIT2EHE, AnTT4EHE, &
BYATS AR, @ATIT SR, REF TR CIR. FRE, AT RS2 HEE,
RNTEZFAT 2 S ASE?

WA W G oA ey ddd fe R B G S k. A—ANEBT A F4E, 9% Bdeo AR — B A
EWRF A, RNEREGLTITIMME, HEARFTIT2AHR, 9@ FiT4 A 4K,
HFATE AR, T IT5 AR, REF TR LCFR FEE, ATREDIE L L,
WANE &7 S VP AHR?

I
1
|
1
|
1
-
1
1
1
1
1
-
1
1

A) 1 (B) 3 Q5 (D) 7 (E) 9

[Proposed by Australia | i KA] 4588 | M KA 2L
2023 A BB PR AFE—DE T FR 11 2023 HARFERAER—DFFTFAR
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24. Bart wrote the number 1015 as a sum of numbers using only the digit 7. He used a 7 a total
of 10 times, as shown. Now he wants to write the number 2023 as a sum of numbers using

only the digit 7, using a 7 a total of 19 times. How many times will he use the number 77?

Bart #f 1015 & 7 R R AT 7 AR A8 Feo B PTw, —FEAMT 10 R7, B
Mo B Fe B 2023 KT R R AT 7 A B Fe, BERA T 19 k7. AREAE A 77 Z18
Bk

Bart 4 1015 &7 M R A F 7 LR KO & A WwBHFF, —3%EA T 10 k7. AL
fo e 4% 2023 AT R R AT 7 MR KA EF, BERNT 19 K7, A 2MAR 77 EA
Fouk?
777
77
+ 77
77
7

1015

(A) 2 (B) 3 ©) 4 (D) 5 (E) 6

[ Proposed by Greece | A #R | A 454 |

25. Maria has shaded exactly 5 cells in a 4 x 4 grid. She challenges five of her friends to guess
which cells she has shaded. The grids they have drawn are shown below. Maria looks at
them and says: “One of you is fully right and each of the rest of you has four shaded cells

correct.” Which is the correct answer?

Maria # 4 x 4 KA ¥ ¥ 5 BB LT LR E . Wb AN AEARIE, FAEFHIEL
TR TR B UM, MR 6 T R T . Maria B THAIGE £43: “RMATH
—BAAZEFHT, LeFEARA 9B R THOLEFE T FIME A EAEEE?

Maria # 4 x 4 ZH# KT 895 NEARKBARE . by AN ZEARIIK, LNIE T4

BT IR A A R 89 T #e R e T AT, Maria A T A8 B EE L RATP A
—AAZEHERT, TAHEAAST @A LA BT T FIRA RS S E?

(A) (B) ©

(D) (E)

[Proposed by Catalonia | #n &% & %A | hw T R IEAEA |

2023 A BB PR AFE—DE T FR 12 2023 HARFERAER—DFFTFAR



